5.5 Applications of Perimeter and Area

Ex. 1: Ryan is replacing the flooring in his 51m
combined living room/dining room, as 37m
shown in the diagram. 45m (D
@ 3.1m
a) Find the total area of the floor. l
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= 22.99m* = .47 m>
b) Flooring comes in packages of 2 m%. How many packages are needed?
2
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c) One package© ring costs $49.95. How much will flooring cost?
(Include 13% HST). ~ 0.3 +
A

I® x 449,95 Tax

_,-—

$99.10X 083 = 999,10+ (165
= &§99. 10 _
=6.89 = $1015.99
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>~ Total 84@ (O>( l = TAX
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d) Find the perimeter of the comblned rooms.
51m

P=45+SI+14+37+ 31 +& &
:2(01(9 A 4.5m

(,%”ﬁl 3.7m
| 3.1m

B8 A
e) Baseboard molding for the edge of the floor comes in 3 m lengths.
How many 3-m lengths will be needed?

H ol bawboards = 2¢.(
3 SBuy 4
= R.%7



Ex. 2: Dorotea is wallpapering her bedroom. Each roll of wallpaper covers 12 m?.
Her room is square, and each wall is 10 m long and 3.1 m high.

a) How many rolls of wallpaper must she buy?

X Y 3 m

fOm

Homework
page 20 #3,7

b) Each roll of wallpaper costs $19.95. What would be the cost for this
wallpaper, including 13% HST?

c) Why might the number of rolls needed be more than your answer in a)?
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Composite Figures

Pieces of the Whole
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Bill is painting his basement floor.

The dimensions are:





3.2 m

1.8 m

2.3 m

2.5 m

If one can of paint will cover 3.5 m2, and each can of paint costs $15.25, what is his total cost including 13% HST?
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a) Determine the total area.

A = 2.3 x 2.5 + 3.1 x 1.5

A = 5.75 + 4.65

A = 10.4 m2

Atotal = A1 + A2





3.2 m

1.8 m

2.3 m

2.5 m

A2

A1
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b) If one can of paint covers 3.5 m2, how many cans of paint will he need?

He will need three cans of paint.





3.2 m

1.8 m

2.3 m

2.5 m

10.4 m2
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c) If one can of paint costs $15.25, what is his total cost including 13% HST?

Paint cost:  3 x $15.25 = $45.75 

Taxes: = 0.13 x $45.75 = $5.95

Total cost: $51.65





3.2 m

1.8 m

2.3 m

2.5 m

10.4 m2
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Shelly wants to make curtains to cover her decorative window.

In order to hem the curtains she will add 10 cm to each edge.

If 1 m2 of curtain material cost $2.20, how much will it cost to make the curtains including 13% HST?









































2 m

2 m
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The radius for material is 1.10 metres.













a) Determine area of semi-circle.

A = πr2 ÷ 2

A = π(1.10)2 ÷ 2

A ≈ 3.80 ÷ 2

A ≈ 1.90 m2

































10 cm



2 m









































2 m

2 m
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The length of the sides of material is 2.20 metres.









b) Determine area of the square.

Total Area = Semi Circle + Square

                  = 1.90 + 4.84

	         = 6.74 m2  or 7m2
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2 m



























































10 cm

2 m
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Material:     $2.20 x 7 = $15.40

Taxes:    $15.40 x 0.13 = $  2.00

Total Cost: $17.40

c) If 1 m2 of material costs $2.20, determine the total cost of the curtains including taxes?
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